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(1) A-DNA (2) B-DNA
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(1) HIA, HIB, H2, H3

(2) HI, H2A, H2B, H3

(3) Hl,H2, H3, H4

(4) H2A, H2B, H3, H4

[ ————— L S b

DNA with right handed helix, 11 base

pair per turn and angle of rotation per

base is nearly 32.7° called

(1) A-DNA ) B-DNA

(3) C-DNA (4) Z-DNA

A group of membrane bound cell

organelles is

(1) Endoplasmic reticulum, ribosomes,
nucleus | '

(2) Chromosomes, ribosomes,

endoplasmic reticulum

(3) Ribosomes, Golgi bodies,
endoplasmic reticulum
(4) Lysosomes,  Golgi complex,

mitochondria

Calcium dependent kinases can control

(1) cell surface receptors
(2) cell cycle activities
(3) DNA replication

(4) spindle fibres

Combination of histone molecules that
combines with the DNA to form the

nucleosome core are :
(1) H1A, H1B, H2, H3
(2) HI, H2A, H2B, H3
(3) HI, H2, H3, H4
(4) H2A, H2B, H3, H4
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Which one of the
biomolecule is correctly characterised ?
(1) Palmitic acid : an unsaturated
- fatty acid with 18 carbon atom.

(2) Adenylic acid : adenosine with a

following

glucose phosphate molecule.

(3) Alanine amino acid : contains an
amino group and no acidic group
in the molecule.,

(4) Lecithin : a
glyceride found in cell membrane

phosphorylated

Hatchek pit in Amphioxus is present at
(1) roof of oral cavity

(2) intestine

(3) vestibule

(4) anal opening

Paraffin wax is

(1) acid

(2) ester

(3) monohydric alcohol
(4) cholesterol

Which of the following- fructose
phosphate, when in low conc.
stimulates gluconeogenesis ?

(1) Fructose-1 -phosphate

(2) Fructose-6-phosphate

(3) Fructose-1, 6-biphosphate

(4) Fructose-2, 6-biphosphate

A rare inherited glycogen storage

_disease is

(1) Philadelphia syndrome
(2) Jacob’s syndrome
(3) McArdle’s disease
(4) Hanson’s disease
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The only enzyme that participates in
both, Kreb’s
transport chain is
(D
2)
€)
4)

Chief end products of carbohydrate
and fat metabolism are
(1) H,0 and CO,

(2) H,0 and pyruvic acid

cycle and electron

hexokinase

aldolase

succinate dehydrogenase
cytochrome C oxidase

(3) CO, and pyruvic acid
(4) None of these

Which of the following is an essential
fatty acid for vertebrates ?

(1) Tryptophan

~(2) Lecithus

(3) Propionic acid
(4) Linoleic acid

Sphingosine : .
(1) is a backbone of
- phosphoglycerides.

(2) is an amino alcohol with long

chain of unsaturated hydrocarbons
(3) chain has a total of 40 carbons
4)

chain has C, carbon with acidic

group

Which of the following does not
contribute in sugar metabolism ?

(1) Insulin

(2) Glucagon

(3) Cortisone

(4) Acetylcholinestrase
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' 1 2 3
() A C B
2) B A C
3 C B A
4 A B C

The enzyme which is not used during :
B-oxidation of fatty acids

(1) Acetyl CoA decarboxylase

(2). Thiolase

(3) Enoyl CoA hydratase

(4) B-hydroxy acetyl CoA dehydrogenase

In the absence of glucose or during
prolonged starvation the energy source
of the brain is
(1) Fat

(3) Protein

(2) Ketone bodies
(4) Lipids

Match correctly two columns X and Y :
X Y

(Zones of adrenal (Hormones)
cortex)
1. Zona fasciculata A. Cortisol

2. Zona glomerulosa B. Estriol
3. Zona reticularis C. Aldosterone

Correct option is

Find the incorrect option with regard
to type of cells present in a particular
organ,
(1) Kupffer cells —
(2) Chromaffin -
cells
(3) Paneth cells
(4) Somatotropic
cells

Liver
Adrenal gland

Kidney
Adenohypophysis
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Prothrombin required for blood
clotting is produced by
(1) Liver (2) Pancreas

(3) Brain (4) Spleen

The vitamin excreted by vertebrate
kidney is
1 A
(3) C

@) D
@) K

In vertebrates a protein material which
is actual carrier of hormone, synthesised
by neuro-secretary cells is called

(1) Vasopressin
(3) Oxytocin

(2) Neurophysine.
(4) Eclosion

Smallest muscle in human body
(1) Sartorius (2) Stapes
(3) Stapedius (4) Spinal muscles

Which one of the following enzyme is
of outer mitochondril chamber ?

(1) NADH - cytochrome C reductase
(2) Adenylate kinase

(3) Malate dehydrogenase

(4) ATP — synthetase

The process which chloride ions pass
into RBC and bicarbonate ions pass
out is called

(1) Bicarbonate shift

(2) Chloride shift

(3) Buffer system

(4) Enzyme shift

Which of the given vitamins is also
considered as a hormone ?

(1) Ascorbic acid (2) Calciferol
(3) Thiamine 4) Riboﬂaviln

06



26.

27.

28.

29,

30.

06

ST &SRO EmenfaT 6 e

o 1 g Bt & R wRor Ryt

T TR A1 O B 7 -

(1) @ﬁn%ﬁ-mﬁwﬁﬁmm
o T T A T T |

(2) s % p-Jaern & A & wmH
R 7ol 3T 1 S |

(3) T % o-@er # Rfte st
& T T A %1 = |

(4) T F o-Eem § Afem F wm
T e 3TR T e |

e 7 fem shiEm 9 v A B

g

(1) XaY sy

(2) Zaar W wEm

(3) X au1 Z wmeEm

(4) Aqut BwmiaEy

=1 3 8 a1 e et e g
S IR ewar @ 2
(1) 15:1 (2) 1:2:1
(3) 9:3:3:1 4) 9:7

TS W UH ThA Tt fEivs @y
i itefé w5 % R @ =nfeg
(1) Torelt sft rfires Torga

(2) T X1 |

(3) T H X-Tvrg o

(4) Tereft oft oy v

Y -HgeTd T 7 IgTeao &
(1) Sifsfern

(2) TSR Zrgehifed

(3) wEifenea

(4) grEifther o ariEt &7 47

; 26.

e —

TS LS i 38 o Ui et et gy

27,

28.

29.

What change occurs in haemoglobin
structure due to mutation that results in
sickle cell anaemia ?

(1) glutamic acid in B-chain of globin
is replaced by valine

(2) valine in B-chain of globin - is
replaced by glutamic acid

(3) glutamic acid in o.-chain of globin
i1s replaced by valine

(4) valine in o-chain of globin is
replaced by glutamic acid

In birds the sex chromosomes are
designated as

(1) X andY chromosomes
(2) Z and W chromosomes
(3) X and Z chromosomes

(4) A and B chromosomes

Which of the following phenotypic

ratio  shows complementary gene
interaction ?

(1) 15:1 (2) 1:2:1

(3) 9:3:3:1 4 9.7

In Human a single recessive trait
which can express its effect should
occur on

(1) any autosome

(2) X-chromosome of male

(3) X-chromosome of female

(4) any chromosome

Example of Y-linkage disease
(1) Haemophilia

(2) Hypertrichosis

(3) Pseudoricketes

(4) Eye colour in drosophila
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Alkaptonuria, which is an inborn error
of metabolism in human is due to

(1) lack of ability
homogentisic acid
accumulation of phenyl pyruvic
acid

Incapability = of  converting
dihydroxyphenylalamine into
melanin

Accumulation 2,

5 — dihydroxyphenyl pyruvic acid

to breakdown
(2)
(3)

C)

Holandric genes are carried by

(1) X chromosome

(2) Different parts of Y chromosome
(3) X and Y chromosomes both

(4) Autosomes

Development of unrelated groups of

animals along parallel lines in

adaptation to a similar environment is
called

(1) Adaptive convergence

(2) Adaptive radiation

(3) Adaptive divergence

(4) Adaptive induction

Cortical granules in egg are made up
of

(1) Melanin-

(2) Mucopolysaccharide

(3) Albumin

(4) Lipoprotein

. Nebenkern is a part of

(1) Ovary (human)
(2) Ovum

(3) Sperm (human)
(4) Kreb cycle
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‘What type of egg membrane are the

calcareous shell in hen’s and jelly in
frog’s egg ?

(1) primary

(2) secondary

(3) tertiary

(4) shell secondary and jelly primary

Cells of Rauber are

(1) Secretory cells of endometrium in
uterus

(2) inner cell mass of blastocoel

(3) outer cells of trophoblast in
contact with uterine wall

(4) cells of trophoblast, in contact
with inner cell mass of blastocyst

Change in a chromosome during
ageing is

(1) increase in length

(2) change in nucleotide

(3) shortening of the telomere length
(4) change in DNA sequence

Diploid parthenogenesis occurs in
(1) Honey bee

(2) Arachnids

(3) Artemia

(4) Lecanium putanami

“Spiral holoblastic” cleavage is not
present in

(1) Nemertea

(2) tubellarian flatworm

(3) cephalopoda

(4) Trochus

How many extraembryonic membrane
develops in the cleidoic egg ?

(1) Four (2) Three

(3) Five (4) Two
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During development of chick 12-pairs
of cranial nerves appear in the embryo
of

(1) 72 hours
(3) 24 hours

(2) 96 hours
(4) 48 hours

Regeneration of complete individual
from a small portion of Hydra is

(1) Morphollaxis
(2) Epimorphosis
3) Physiological regeneration
(4) Compensatory hypertrophy

Deciduale placenta present in

(1) cow (2) pig
(3) human (4) lemur

Which of the following Indian sites are
included in UNESCO World Heritage
Sites (Natural) ?

A. Great Himalayan National Park
B. Keoladeo National Park

C. Western Ghats

D. Manas Wildlife Sanctuary

Find the correct choice :

(1) Only A and 8

(2) OnlyB,C,D

(3) Only A,B,D

(4) A,B,CandD

The phenomenon of  increasing
concentration of a toxic chemical in the
tissues of organisms at successively
higher levels ina food chain :

@) Bioaccumulation

2) Biotransformation

(3) Biomagnification

(4) Bioremediation

One of pattern of soil erosion caused
by wind is

(1) Incineration

(2) Mulching

(3) Land slide

(4) Saltation

06



48.

49.

50.

51.

52.

06

AN & e 3

A. TEGNH HeHTES
B. #dq

C. e SEaES
Hﬁmgﬁq:

(1) %aet A 3t B
(2) %I B

(3) Faa B3R C
(4) A,B3iRC

TR @ f g s

IATGHAT B

(1) 3UT9=™ % SR JHehTaiIeh awal s
3T & -

(2) JHEI-EIAGT F CNH HENF
el 1 e X

(3) TIEA o NH Hll % @Ud I T

(4) 3UTTEA % N HABEH T
U

ffafea & @ 9 @1 qwer e T8
87

(1) BEHTR st

(2) Haeed T A

(3) grwad 31T yf

(4) SRR s sfir

TAR-3a18 U e ¥ e HRw B
? 7

(1) Pb (2) Cr

(3) Cd (4) Hg

=1 3 § ford afereer 3 o S99 W
STl fohaT ST 2 7

(1) Hfreefia wiger

(2) rmgEhfe wigfeer

(3) et e

| 48,

Lt Vot 4 oo e

R e

11

49.

50.

1.

52.

Constituents of biogas are
A. Hydrogen sulphide
B. Methane

C. Carbon dioxide
Select the correct answer :
(1) only A and B

(2) onlyB

(3) onlyBandC

(4) A,BandC

Gross primary productivity of an
ecosystem is

(1) the rate of production of inorganic
matter during metabolism.

(2) the rate of production of organic
matter during photosynthesis.

(3) the rate of consumption of energy
during respiration.

(4) the rate of consumption of
inorganic matter during
metabolism.

Which is not a Ramsar site ?
(1) Rudrasagar lake

(2) Keoladeo National Park
(3) Sunderbans Wetland
(4) Ujini Wetland

Itai - Itai disease is caused by
(1) Pb (2) Cr
(3) Cd (4) Hg

Which of the following is used
extensively in vermiculture ?

(1) Neanthes caudata

(2) Eisenia foetida

(3) Pheretima posthuma

(4) Lumbricus terrestris
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56.

Match the following Column-I with
Column-11 correctly and select the
correct answer :

Column -1 Column - 11
(Biological (Insect pest)
Controller)
A. Rodolia 1. Aphid
cardinalis
B. Perezia 2.  Sugarcane
pyraustae borer
C. Aphelinus 3. Scale
mali insects
D. Trichogramma 4. Maize stem
' australicum borer insect
Codes :
A B C D
(1 1 2 3 4
2 2 3 1 4
3 3 4 1 2
4 3 2 4 1

Concept  of  innate  releasing
mechanism was given by

(1) Konard Lorenz

(2) Niko Tinbergen

(3) Darwin

(4) Pavlov

As per Thorpe, which of the following
is not a flexible learning ?

(1) Habituation

(2) Latent learning
(3) Reasoning
(4) Imprinting

Incubation of bigger size eggs by Grey
leg goose is an example of
(1) sign stimulus

(2) auditory stimulus
(3) supernormal stimulus

(4) chemical stimuli
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Monarch and viceroy butterflies are
the vivid examples of

(1) parthenogenesis (2) parasitism
(3) mimicry (4) social insects

Which one of the following is not true

about Wernick’s area ?

(1) Located in right temporal lobe.

Q) It
vocabulary.

act as store house for

(3) It is responsible for understanding
written language. -

(4) It is responsible for understanding
spoken language.

Formula to calculate median for
individual observations :
N+1

2

(1) size of

1\t
(3) size of [NE] item

2 X
s Yl i
“4) N
Which subclass of IgG cannot cross
placenta easily ?
(1) IgGl
(3) IgG3

) IgG2
4) IgG4

Associated with immune system, these
dendritic cells are present in the skin :
(1) CD, cells

(2) Langerhans cells
(3) NK cells
(4) T-cells



62.

63.

64.

65.

66.

67.

e o & =8 W Aee s pega
ST AT (Line) B ? ~

(1) Hela (2) MRC-5

(3) WISH 4) L

e 8 = 8 | e Sifteeiet w IgE
% ford S Sy UES BT @ 7

(1) i wifmm

(2) TR HITIRIE

(3) WS

(4) SHIfthed

grefsrem § HIRRIaT &1 e 2 2

(1) T HIfSeRT qut sReNETse ®1

(2) AR ¥R quT frrwETEe ®°

(3) ferpiaTse aun sfienamse &

(4) UISAET ISR AT HIEAMT
EAINEIEE

fpa Ifaes ¥ griom ST aeieht
BT S ThTH <1 9T fepam ?

(1) s dwa (2) &

(3) g (4) T

qRa # GM s # fres foeg
sfaeresar 7g witafefa fpar w2

(1) fermoy (2) #r

(3) Sfamg (4) Hieg

fm & @ sm @ fifww
wftei /aftepias 8 7

A. U=H"

B. 37y o=

C. Gia

D. MALT

E. vl g sut Ssflerd

(1) ALB3fRE (2) C3®D
(3) C,DIRE (4 A,B3RC

14

63.

64.

65.

66.

67.

Which of the following is the human
embryonic lung cell line ?

(1) HelLa (2) MRC-5

(3) WISH 4) L

Which of the following cells have a high
affinity receptor for IgE in human ?

(1) Dendritic cells

(2) Langerhans cells

(3) Monocytes

(4) Basophils

In hybridoma, the fusion of cells is
between
(1) myeloma cell and erythrocyte

(2) myeloma cell and lymphocyte
(3) lymphocyte and erythrocyte

(4) myeloma cell and myeloma cell

Which scientist obtained interferon
through recombinant DNA technology ?
(1) Charles Weismann

(2) Smith

(3) - Kohler

(4) Milstein

GM - Brinjal in India has been
developed for resistance against

(1) Virus (2) Insect

(3) Bacteria (4) Molds

Which
secondary lymphoid organs tissues ?
Thymus

among the following are

Bone marrow

Spleen

MALT

E. Bursa of Fabricus in birds

(1) A,BandE (2) CandD
(3) C,Dand E 4) A,BandC

CSowpy

06
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Which among the given substance
confers a high negative charge on the
surface of erythrocytes ?

(1) Alkaline phosphatase

(2) Cardiolipin

(3) Sialic acid

(4) Spectrin

Which of the following antibody is the
first antibodies produced in humoral
immune response ?
(1) IgG

() IgA

(2) IgM
(4) IgE

What is not synthesi}_cd_ from
cholesterol 7

(1) Aldosterone

(2) Oxytocin

(3) Bile acid

(4) Testosterone

Amphids present on ventro-lateral lips
of Ascaris

(1) secretes protein digesting enzyme.
(2) secretes saliva.

(3) are chemoreceptors.

(4) are photoreceptors.

Term used for those organisms which
breed only once in their life time :

(1) clumped
(3) dispersed

(2) iteroparous
(4) semelparous

In vertebrates ceruminous glands of
external ear canals are modified :

(1) sweat glands

(2) sebaceous glands

(3) mucous glands

(4) parotid glands
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Hepatic portal system of one of the
following is the precursor of that of
the higher chordates

(1) Branchiostoma

(2) Herdmania

(3) Petromyzon
(4) Labeo

Which of these snakes

solenoglyphous type of fangs ?
(1) Cobra (2) Krait
(3) Viper (4) Coral Sanke

POSSess

The Ambiens in bird are
(1) Flight muscles

(2) Flexor muscles

(3) Extensor muscles
(4) Pectoral muscles

What is the SI unit of enzyme activity ?
(1) Km (2) Katal
(3) Kcal 4 V_ ..

Which of the following enzyme is not used

in the synthesis of triacylglycerol ?

(1) Glyerol-3-phosphate
acyltransferase

(2) Acylglycero phosphate
acyltransferase

3)

4)

Phosphatidic acid
phosphohydrolase
Glycogen phosphorylase

In Scypha, spongocoel is lined by

which of the given cells ?

(1) Choanocytes

(2) Pinacocytes

(3) Myocytes

(4) Amoebocytes

Albinism is a congenital disorder due
to absence of an enzyme called
(1) tyrosinase

2)
3)
4

catalase
fructokinase
xanthine oxidase
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In which of the following spiral
cleavage is found ?

(1) Echinoderms
(3) Ctenophora

(2) Mollusca
(4) Amphioxus

Blastula without blastocoel is known
as

(1) Coeloblastula
(2) Amphiblastula
(3) Stereoblastula
(4) Discoblastula

The species confined to a particular
region and not found elsewhere is
termed as

(1) endemic
(3) keystone

(2) rare
(4) indicator

Which one of the following is non-
renewable exhaustible natural resource ?

(1) Wildlife
(3) Minerals

(2) Solar radiation
(4) Wind

Edward’s syndrome, Patau’s syndrome
are due to

(1) Mutation due to malnutrition
(2) change in sex chromosomes
(3) change in autosomes

(4) change in both autosomes and sex
chromosomes

Which among the following scientists
deciphered communication mechanism
in honey bees ?

(1) Enrico Alleva

(2) Karl Von Frisch

(3) Lazzro Spallanzani

(4) Marten Ducane
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Metagenesis refers to

(1) Drastic cellular growth during
embryonic development.
Alternation of generation between
asexual and sexual phases of an
organism.

Formation of segmented body.
Presence of different morphic
forms. .

(2)

3)
4)

Vane, hamuli and quill are parts of

(1) typical feather
(2) bones of birds
(3) poison apparatus of snakes

(4) internal ear of scoliodon

The eggs of Anguilla, hatch into small,
transparent, pelagic larva called as

(1) Latimaria

(2) Leptocephalia

(3) Coleocanth

(4) Ophiocephalus

Human Leucocyte Antizen (HLA)
complex is present on the

(1) the arm of 20" chromosome

(2) the short arm of 6™ chromosome
(3) the arm of X chromosome

(4) the arm of Y chromosome

Which one of the following undergoes
spermiogenesis ?

(1) Primary spermatocyte

(2) Spermatid

(3) Spermatogonia

(4) Secondary spermatocyte
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The sequence of differentiation pattern
of limb skeleton in frog is

(1) Autopodium —> Stylopodium —>
Zeugopodium

(2) Stylopodium —> Zeugopodium
—> Autopodium -

'(3) Zeugopodium —> Stylopodium

—> Autopodium
(4) -Autopodium —> Zeugopodium
— Stylopodium

Wyandotte, new Hampshire, Plymouth
Rock and Ghagus are the varieties of :

(1) Fowl used for poultry

(2) Fishes used in fish culture

(3) Varieties of pearl obtained from
pearl culture ‘

(4) Trees used by lac insect to grow

The starting substances in the
synthesis of haem part of haemoglobin
are :

(1) Succinyl CoA and amino acid

glycine
(2) o-Ketoglutarate and glycine
(3) Succinyl CoA and Lysine
(4) o-Ketoglutarate and Lysine

Interlukin II is secreted by
(1) T lymphocytes

(2) B lymphocytes

(3) Plasma cells

(4) Erythrocytes

Enzyme with 5'-3" exonuclease
activities is :

(1) DNA Polymerase — I

(2) DNA Polymerase — I

(3) DNA Polymerase — III

(4) DNA Polymerase — IV
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98. TF % UHW w1 ITA R AT We 98. Organisms that manufacture organic
ST N D FEE GRES w5 compounds from simple inorganic
: compounds without using sunlight are
fmior %@ a1t < wgema § called

(1) wEardt (2) THTEYIRNE
(3) IEEH (4) HEIIRE

99, Yfifirrg % oat il § Bar &
(1) AT uay Ca*™ 3=

(1) Chemotrophs (2) Phototrophs
(3) Detrivores (4) Organotrophs

99. Kappa particles in paramecium have :
(1) DNA and Ca*™ ions

(2) ITNTAT TEH Ca™ A ' (2) RNA and Ca*™ ions
(3) FHIS Ca** 3T (3) Ca™ ions only
(4) <TTT T ST (4) DNA and RNA
100. A&7 =8 &% e § I Sy gt 2 100. Coelom produced by splitting of
S trefer HRT mesoderm is
) e ( ) (1) Enterocoel
@) (@ iﬂ%l) (2) Schizocoel
3) HEEw (ReTRT) (3) Pseudocoel
(4) TH A HIE T (4) None of these
101. 9= 5 & & 91 %o Ieh Ter1ar & 101. Which one of the following is a
(1) e ) e shelled protozoan ?

(3) Tedrea (4) e

102. Wfcrer ¥ U IH ol s
HIHIA & gl § frm ¥ & B9 @
YT G TR 7
(1) 3 FIefnal % 9% % T Bt 8 |
(2) 3 =it diefte wfiefifomm @
ST B & |

(3) ¥ TATSRISH I TUE HTA 2§ |

(4) ¥ g orafrst w1 ufeed
A B |

a 20 , 06

(1) Monocystis  (2) Paramecium
(3) Trypanosoma (4) Polystomella

102. Which of these is.not a correct

statement about the chloragogen cell

found in Annelids ?

(1) They are similar to kidney in
vertebrates.

(2) They derived from inner coelomic
epithelium.

(3) They store glycogen.

(4) They transport nitrogenous waste.
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Phaosome is

(1) aphotoreceptor in earthworm
(2) apigment

(3) .acell organelle

(4) anenzyme

Which  among the  following
statement(s) is/are correct about
Dentalium ?

A. Itis a scaphopod.

B. Gills are absent.

C. Has shell that is open at both the
ends.

(1) Only Statements A and B

(2) Statements A, B and C

(3) Only Statements A and C

(4) Only Statement C

According to Whittaker, kingdom

plantae includes all

(1) Unicellular, eukaryotic,
autotrophic plants

(2) Multicellular, eukaryotic,
autotrophic plants

(3) Multicellular, eukaryotic

- organisms
(4) Unicellular and Multicellular,

eukaryotic, autotrophic plants

Chitinous exoskeleton of crustaceans
and insects is made by the
polymerisation of

(1) lipoglycans

(2) N-acetyl glucosamine

(3) Chondroitin

(4) Arabinose

Ascaris is

(1) independent round worm
(2) independent flat worm
(3) parasitic flat worm

(4) parasitic round worm
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Thermoregulatory centre in mammals

is located in :

(1) pons varoli -.(2) floccular lobes
(3) hypothalamus (4) corpus callosum

In which of the following animals the
flow of blood through the heart
changes direction periodically ?

(1) InHerdmania® (2) InBalanoglossus
(3) In Amphroxius (4) In Petromyzon:

Pacinian corpuscles are receptors
responsible for sensitivity towards

(1) Temperature (2) Pressure

(3) Touch (4) Taste

Which of the following is not a
ruminant ?

(1) Giraffe (2) Deer

(3) Zebra (4) Camel
Feathers, Hair and Horns are the
derivatives of

(1) Bone (2) Skin

(3) Cartilage (4) Muscles
Epidermal scales are present in
(1) Scoliodon (2) Rabbit
(3) Lizard (4) Frog

. Which one of the following groups of

structures / organs have similar function ?

(1) Typhlosole in earthworm,
intestinal  villi in rat and
contractile vacuole in amoeba.

(2) Antennae of cockroach,
tympanum of frog and clitellum
of earthworm.

(3) Nephridia in earthworm,

Malpighian tubules in cockroach
and urinary tubules in rat.

(4) Incisors of  rat, gizzard
(proventriculus) of cockroach and
tubefeet of starfish.
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ﬁmﬁﬁﬁqw&mmmm | 115. Which  one

g7
(1) wggen 2) TR
(3) TTemH (4) Teewm

IRl sh1 FTvgaTiehaT TR §
(1) ettt

(2) aTfeHIT Fieqent

(3) geiteam aferent Y

s IURRA B &
(1) d=pH () A
(3) @ d (4) IwTeE |

e & frr & @ few o A wRe |
A TR TAIHE Bt & 7

(1) et 2) Tenifatsferan
(3) =R (4) RIS

afe frdt TimE w1 RRiRs @ |
%A E.C.2.7.1.1 8 &Y 98f W 2 3fi
AT '

(1) gt 2) TER
(3) IFTHHIESIEHH (4) HEETRS

T 1 weedi (fedifees) dem &1

e forg wmT=Tan qd % e %

eI f87g ¥ H 1T 2 | $EehT Ul &

(1) freafeds e & €4t &7 HaeR
BT |

(2) Rogifeem % G B aret HamH
(Porerd=)

(3) Mg** 31 i sufeufy
(4) Na** 3R &) IufRufy

TR T s oSt o bt ] i e B Vi s P
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116.

117.

118.

119.

120.

of
catadromous migration ?

(1) Anguilla (2) Acipenser
(3) Salmon (4) Hilsa

them shows

Oviducts in vertebrates is modified
(1) Urinary duct

(2) Wolffian duct

(3) Mullerian duct

(4) Inguinal canal

Incisors are absent in
(2) Sloths
(4) Bat

(1) Lemurs
3) Nx

In which of the following order of
Reptilia quadrate bone is movable ?

(1) Chelonia '

(2) Rhynchocephalia

(3) Squamata

(4) Crocodilia

If systematic code number of an
enzyme is E.C.2.7.1.1, what does 2
indicates ?

(1) hydrolase
(3) oxydoreductase(4) Isomerase

(2) transferase

A reassociated double standard DNA

often has a melting point slightly less
than the DNA before melting. This is
due to

(D

weakness of bonds in reassociated

DNA
(2) mismatching during reassociation
3)

(4)

Presence of Mg*™ ions

Presence of Na*™ ions
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